POWER ELECTRONICS

Paper : IE 602
Full Marks : 100
Time : Three hours

The figures in the margin indicate
fyll marks for the questions.

Answer any five questions.

(a) How IGBT differs from MOSFET and
BJT ? Give a comparison. 6

(b) Draw the equivalent circuit of IGBT,
SCR and MCT using BJT and MOSFET.
6

(c) Draw the I-V characteristics of SCR and
explain the terms—holding current,
latching current, forward blocking

region and forward breakover voltage.
8
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7. (a) Explain the working'of a short break
and a no break UPS. 10

(b) What is a cycloconverter ? Explain
the working of any one type of
cycloconverter. - 10
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